S WB/ KP S| &CONSTABLE

PART-1
BY VISHAL MAHENDRAS

(«) 0mB | 05:15 PM







Q. If 15% of x is three times of 10% of y then find x:y ?
a. 1:2 b.2:1 c. 3:2 d.2:3



OUR SHINING STAR

Many Many

Con Mﬂ?én%

From Mabhendras

Kolkata Branch

Roll No. CAL0611515985 AFROZ JAHAN PARVEEN

ICDS SUPERVISOR




Q. There are 1400 students in a school. 25% of those wear spectacles
and 2/7th of those wearing spectacles are boys. How many girls in the
school wear spectacles ?
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Q. If 10% of A’s income = 15% of B’s income = 20% of C’s
income and if the income of A is 7800 then find the income of
B ?
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Q. Salary of a person is first increased by 10% and then itis
decreased by 10%. Find the percentage change in salary ?



Q. 40% of 60% of 3/5th of a number is 504. what is 25% of 2/5 of
that number ?



Q. The price of an article is reduced by 25% but the daily sale of
the article is increased by 30%. The net effect on the daily sales
receipts is -
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Q. 65% of a number is more than 36% by 58. what is 23% of that
number ?



Q. If A is equal to 20% of Band B is equal to 25% of C then what
percent of C is equal to A ?
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